2 5 (5 6 Z:BR)

PEKEBRIEH B (ML - %) FTEMBHFSF

= H H
HHMNE B

HEKBAHOBIEZDUNT, B RS FAGESRGIHUE T DHEGR ST T2 WD TRO L 380 HIFE L%

T, 7B, MEARTRE KO IOV L, FRedfE LHECRHMELET,

£ P
5
K 4 @ (hw

PR LFOFfeE MOW LOZAE2ZT =D CHRGGE B AT TR DOHGE 2 LE T,
fRE L FIJ5
HAELA A KA F

B Y% P EER i 17 B X X

! HE K 4 Fll

PEOK R Lo 2.5 3R 4 2o ( )

£ x4 —
b g oo LR 208 3R 4. Tofh ( )
KEE oormy - & @ - A~ @ - wH @

fif?

M X EA - EEEEHAKPKE - H5 - 2oft () PREEEFTKE-HFF-Z0M ()

HE

KX —fRERE - IEXIEHHT - TN — b - ZToff ( )

fif?

é:l\
M #H AN TEHPKE  m3  HEAHEPKE m3 (T - FREDH)

T

T EMME A T F= A A~ £ A H

0 F 8 LR 2 VR 3 HiXIE 4 BUESIXY b AREREMN 6. [RIEE 7. 3E

*k ZOMIFECA L7 &y

ARREFREHERE

b
m do

(3

FRED THGFmEMHEST 5,
B R EL

e 3R & T | NETEAK - B o |HE R HFIE

[ £ &

]

LA

1,/




e (0 SR SRRSO

NI ER = ae

EVESEISANO

C

I~
-

O S R A

;

H,

A

FryTET
@A)
SRET

AT

FusrEd
(i5A)

M 7TD

RIBIGHHS T eTP
i cp
a2 hE

[Lae- T VP

i ——

i

B
EEATLET O
a—

PR eSS B

BIEERET
iR GHEE

T ET

LER

S ——

e EF

it

TR (ERE

X

£3 3] _—

e -

HET

R




N

it

¥

7 1 [

.

s

S=1,/20

i

S=1,/200

%

Ei N S

'K O®

SIERY) | ESR

AR R

el R




) ) T Ff| 4 i TR~k BT | & i | & B | W
EATFHRLILERHE (AREE)
T Fi| 4% ZiiN TR~ 5 BN | B & L Aff 4 KA | T X
o
{5
F)]’,
T
BE E: A
g (B)
7K N
H O T F & (0 A+B
S # (D) CX % |
h A F L ¥ ® (B | CctD
& B F OB (F) C X % | =X
i
HRBRAEFHEE (G) CX % |
- Pk TEFEe () E+F+G
Wk IHEE (1) =
£
o mRLFEE  (]) b2V
JH
KLTEE (K) b2V
T
e
=
g (L)
i (A) = 5 H+L




e (0 SR SRRSO

NI ER = ae

EVESEISANO

C

I~
-

O S R A

;

H,

A

FryTET
@A)
SRET

AT

FusrEd
(i5A)

M 7TD

RIBIGHHS T eTP
i cp
a2 hE

[Lae- T VP

i ——

i

B
EEATLET O
a—

PR eSS B

BIEERET
iR GHEE

T ET

LER

S ——

e EF

it

TR (ERE

X

£3 3] _—

e -

HET

R




e W | it S=1,/20 M S=1/200
) i %
Hi Hom
+ # m
B O M om
B 0 EE m
ACTE B OEE m
%l Aom




_ _ T Ffi| 4 B TR~ HAZ | & %
AR LERHAE (AEE)
T FE| 4 i TR~ 5 BN | B & L Aff & %A G2 "
i
{5
F)]’,
T
BE E: A
i (B)
7K .
H B L F # (C) A+B
i % # (D) C X %
%ﬁ.‘
A i L F #H (E) C+D
& R B O OB (F) C X %
i
e B MmA THEE (G) C X % |
PEAKRR I LFFEE (H) E+F+G
Wk LEE (1) B2V
E5
mRLHEE  (]) B2V
JHL
KILTHEE (K) B2V
T
e
=
5 (L)
i A) = &t H+L




